BERESROVENELEHHERVEHIEEHE
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- EBXEREHEEE  FR295E

- XMEYEBESIEICERM, (L, FAFF L VEEEMNELGDT

, BEth k<)

HEREEYE BEHE (kg/FE; A M4 F LU $BIEme-TEQ/ ) R
RN = (HEEHE)
A WL HER | FHRR ik | s |ghm|gus
B85 *EL | BEET RE BENK INET ) a %) %)
BXE =S ?

1ERDKBEEIEEY 11 27 38 1,012 1,050 96 4
2[79VILTSR 1 1 0 1 0 100
[ ZHOVILEEIFIL 261 15 276 276 0 100
4|7O)IVEBEUVZDKAHEIE 12 12 12 0 100
57 0JIEE2— (CAFILFTI/)IFIL 261 15 276 276 0 100
6|75 )LEE2—EROXL I FIL 0 0 0 0 100
N7 ILEE/ILIL—TFIL 8 8 0 8 0 100
8|7 ILEEAFIL 261 15 276 276 0 100
9|7o)B=kJJL 196 196 196 0 100
10(7oaoL 14> 145 632 5,439 6,216 6,216 0 100
17k FRUD L 0 0 0 0 100
12| 7L 7ILTER 0 783 3,477 35,363 39,623 39,623 0 100
13[7Eb=FYJL 281 255 536 0 536 0 100
1477 /ERYY — —
15727 - -
16(2, 2" —7YERXRAYITFO=K))L - -
17| AW =T =D — -
18|7=1)> 0 0 0 0 100
19|11—73/—9, 10—F7 5%/ — -
20[2—73/TR/—)L 13,634 1,608 66,631 81,873 0 81,873 0 100
IVIEDED P - —
22|2470=)L 974 0 975 975 0 100
23|/\5—F3/2x/—JL - -
24| A3 —F73/0x/—)L - -
25| AT 4,200 4,200 4,200 0 100
26|3—73/—1—70AR> — —
27({A2=kOY — —




EILEYE HEHE (kg/E; F A F U 8BEmeg-TEQ/ ) AL
RN = (HEEHE)

e HREA | FARE o L[ B | EE
o MEBE R RIPEA IR — - HH=E &t |HHE |[HE=E
= =2 BEED RE BEA INET (E£5HE) %) (%)

BXE =S 3 ?
28 [ZUILFZILa—IL - -
29 [1—7YILAFXL—2, 3—TIRFTO/NRY — —
BEHETZILTIREURIKRVEBERUIFDE (7
30 [ILFILEORZFHEMN1OND14FETODLORY 18,496 14,748 158,496 191,740 191,740 0 100
ZTDEEMIZRS,)

31 [TFUFEVRUZEDIEEY 72 72 0 72 0 100

32 | 7RSSty 0 0

33 [Afa 0 0

34 3—AVYITFRAFIL=3, 5, 5—RJAFILLY 0 0 _ _

ANF I =AY T 21—t

35 [AYITFITITER 0 0

36 |41VTLY 5517 5517 5517 0 100

37 |[EXTT/—ILA 3 3 0 3 0 100

0 |2 2’ —{4v7nEYTUER[(2, 6—70F 0 0

—4, 1=Jx=L)AF]Iox8/— 1L

NIPES 0 0

40 |[EJ2xzF+—k 180 180 180 0 100

M [ZILESZIL 783 783 783 0 100

42 [2—AZRZVIVOUFAY - -

43 |AS/98DY - -

44 ACHLBRUZFDIEED 0 0 - -

45 | TAVFA—IL — -

46 [FHORYTIFIL 112 112 112 0 100

47 [THIKRR 1,580 1,580 1,580 0 100

48 |EPN 315 315 300 615 49 51

49 IR TAAR)Y 1,006 1,006 1,006 0 100

50 |EUR—F - -

51 |2—IFILAFTHEE - -

52 | 75=AHILD 80 80 80 0 100




HERILEYE HEHE (kg/E; F A F U 8BEmeg-TEQ/ ) AL
= E -ﬁ
) RN = (HEEHE) . Ei | Ema
s W 2T HERIE | EHER HHE | A |HmE|HHE
&S =2 BEEQ REE BEA INET (E£5HE) %) (%)
BXE =S 3 ?
53| TFILREY 59,763 96,838 7,043 62,421 226,066 21,501 247,566 9 91
54| RRAFF7E—F 12,884 12,884 12,884 0 100
55| TFL A3 - -
56 TFLAXUER 370 370 60 430 14 86
57| TFL>Ha—ILE/IFILI—TIL 740 29 768 768 0 100
58| TFLHYa—ILE/ AFILI—TIL 25 25 25 0 100
59[TFLOTIV 0 0 0 0 100
60| TFL TSI UEERE 62 48 110 110 0 100
61|72 T 2,275 2,275 0 2,275 0 100
62|<>atJ 28,492 28,492 28,492 0 100
63|07k TJAOSK 8,870 8,870 8,870 0 100
64| TFDTAYIR 4,255 23 4,278 0 4,278 0 100
65|TE OOERYY — —
66[1, 2—THRFTHY - -
67|12, 3—IR*—1—JO/x/—JL - -
68|E&iLTOEL Y — —
69[2, 3—IRFTOEIL == )LI—TIL — —
ITAFUB1aREBBBRIERVITAVFUB
70 IbEBEREDEAY 51 0 51 51 0 100
PR ER [ it 0 0 0 0 0 100
29| BB/ T4 (REHA10HET1BETDILOD _ _
RUZDEEMIZRS,)
13[1—FVH/—IL 0 0 0 0 100
14| INS—FIFIL I /—)L - -
15| WSV LR UVZDIEEY 0 0 3 3 95 5
16(47> 0 —HhT059% 1 — —
77|AIS I LS T F3EE - -
782, 4—FL/—I)L — —
79|12, 6—*FL/—)L - -
80|F LY 91,806: 292,391 12,003 231,531 627,731 48,837 676,568 7 93
IEP - -
82| ERUVZFDKBHEILEY 15 15 0 16 1 99
83| A 418 34 893 1,345 1,345 0 100
84| )AXH—IL — —




ERILEYE HEHE (kg/E; F A F U 8BEmeg-TEQ/ ) AL
RN = (HEEHE)
e HREA | FARE ol T A bt
o MEBE R RIPEA IR — - HH=E &t |HHE |[HE=E
55 =2 BEED RE BEA INET (E:HE) (%) (%)
BXE =S 3 ?

85| ILAILTILTEER 20 20 20 0 100
86[7LY—IL 0 66 51 118 118 0 100
87|70 LRUV=ZMYyOLIEEY 3 0 3 184 187 98 2
88| /NIy B LIEEY 0 164 165 142 307 46 54
89[yonrF=1)> - -
W7V 698 698 698 0 100
NLT7FIY 2 2 2 0 100
92|k LTIV ESK 771 771 771 0 100
93[Ar528—)L 3,797 3,797 3,797 0 100
AR A== — —
BITIVTIOF L 1,271 41 1,312 1,312 0 100
9o /arJ—)L 63 0 63 63 0 100
97|11 —/700—2— (JAOAF)LIRU LY — —
98|/ O OEERR = -
99| VOOBEERT FIL - -
100[7LF3550—)L 1,634 1,634 1,634 0 100
101{7>28—)L 860 860 860 0 100
102[1—4v00—2, 4—o=kARLEY - -
103|HCFC—142b 706 320 3,004 4,030 4,030 0 100
104|HCFC—22 34,568 71,5694 3,957 110,118 7,900] 118,018 7 93
105|HCFC—124 - —
106|HCFC—133 - —
107|CFC—13 - —
108| A7 avr 1,032 1,032 1,032 0 100
109(74 /L=~ B0OkLTY = -
110{/,85—450OAk)LTY - -
111|2—4HaA—4—=kA7=1Y — -




RILEYE HEHE (kg/E; F A F U 8BEmeg-TEQ/ ) AL
RN = (HEEHE)

e HREA | FARE o L[ B | EE
o MEBE R RIPEA IR — - HH=E &it |HHE |[HE=E
= =2 BEED RE BEA INET (E£5HE) %) (%)

BXE =S 3 ?
112|2—/op=—faR ¥ - -
113[<oy 96 11 107 3 110 3 97
11443 /07 7 7 7 0 100
15[z FSHEF 675 675 675 0 100
116[~NFFTFIIR 10 10 10 0 100
117|773+ —JL 801 801 801 0 100
118|240 J4=)L 45 0 45 45 0 100
119|273+ —)L 198 198 0 198 0 100
120/ )Lb—oBa02Jx/—)L - -
121,85 —490A7xz/—)L _ -
122|2— /0004 — —
1231817 UJL - —
124[~3)L0> 45 45 45 0 100
12500 53 980 1,033 1,033 0 100
126|CFC—115 23 41 63 63 0 100
127700k L 661 59 214 934 934 0 100
128[18{EAFIL — —
129]4—4~00—3—AF)LT7x/—)L 0 0 — —
130|MCP - —
131[3— o0 —2—AF)L—1—TJORY - -
132[aNILERUZEDIEEY 75 0 0 75 241 316 76 24
133|TFLSY)a— )LE/IFILI—TILTF7ET—k 892 892 892 0 100
134|BEREE Z )L 71 226 16 313 313 0 100
135|TFLHY)a— LE/AFILI—TILT tT—k - -
136[HFILFILTEER - -
137\ 7 F =5k 22 22 22 0 100
138|490 Ayk - -
139[FSa AR 14 14 14 0 100




HRILEYE HEHE (kg/E; F A F U 8Emeg-TEQ/ ) AL
= g
) RN = (HEEHE) [, B | R
s W 2T HERIE | EHER e | A |HmE|HHE
= =2 BEEQ REE BEA INET (E£5HE) : %) (%)
BXE =S 3 ?
140(2x>JO/\RJ> 55 4 59 59 0 100
141[EXHZIL 972 972 972 0 100
142(2, 4A—F2/7=V—I)L — —
143|4, 4’ —OF73I)07x=)LT—T)L — —
1448 T AL EY (BIER U T U BIEZ RS ) 14 252 266 589 855 69 31
145[2—(CTFILF7Z/) TR/ —IL - —
146[EUSRRAFIL 784 784 784 0 100
147 FAR AT 342 342 21 363 6 94
148|H7x A kO—)L 340 340 340 0 100
149|Mig bk % 2 2 100 0
150(1, 4— A F Y2 9 9 43 52 82 18
1511, 3—oH XYY - —
152(HLBvT 3,392 3,392 3,392 0 100
153[ TR AR)Y 16 528 543 543 0 100
154|208 F LTIy — —
155|N— (28X IJLFA) TRILLSE - -
156|407 =1)> - -
157[1, 2—o4Hy00xT 4y 22 22 12 34 36 64
1581 1LE=)T> 76 76 100 0
159[2 X —1, 2—oH/O00TFL Y 43 43 100 0
160(3, 3’ = 00—4, 4’ —DF3S )T LAY - -
161|CFC—12 1,994 594 3,065 2,059 7,712 7,712 0 100
162|7OEH 3K 1,028 1,028 1,028 0 100
163|CFC—114 - —
164|HCFC—123 629 1,177 1,806 1,806 0 100
165/2, 4—</00K)LITY - -
166/1, 2— 00 —4——kOR EY - -




RILEYE HEHE (kg/E; F A F U 8BEmeg-TEQ/ ) AL
= g
] RN = (HEEHE) [ B | R
s WEAH HRRIE | SRR HHE | A |HHE|HmE
= =2 BEEQ REE BEA INET (E£5HE) %) (%)
BXE =S 3 ?
167|1, 4— OO —2—=—kARUEY - -
168|470 A4 1,000 1,000 1,000 0 100
169|>HOy 4,462 4462 4462 0 100
170(F 554V —IL — —
171{7aEa3ry—iL 198 198 198 0 100
172|AF Yo o0 ARy 286 286 286 0 100
173[E>onyiyy - -
174[) =202 529 529 529 0 100
175[2, 4—D 16,584 16,584 16,584 0 100
176|HCFC—141b 1,844 794 7,453 10,091 10,091 0 100
177|HCFC—21 - —
178[1, 2—o4yono7Jo/ky - -
179|D—D 1,362,380 1,362,380 26] 1,362,406 0 100
180(3, 3" —</OaOR oDy - -
PR 0 870 105,744 106,614 106,614 0 100
182|353V X7z 72 72 72 0 100
183|EZSY L—F 4010 4010 4,010 0 100
184|oH/0~R=)L 455 455 455 0 100
185|HCFC—225 3,652 3,652 2,100 5,752 37 63
186|18IEAFL Y 10,113 10,113 29,621 39,734 75 25
187|OF 7/ 428 428 428 0 100
188[N, N—U3oOANF LTI - —
189|N: N=U L IONFY I —2=~VIFT7T =)L _ _
AITTUTER
190|202 9ARV ATy - -
19114V 0FAS5Y 392 392 392 0 100
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RILEYE HEHE (kg/E; F A F U 8BlEmeg-TEQ/ ) AL
RN = (HEEHE)

e HREA | FARE o L [E | EE
o MEBE R RIPEA IR — - HH=E &it |HHE |[HE=E
= =2 BEED RE BEA INET (E£5HE) %) (%)

BXE =S 3 ?

219[DAFILO RILIAF - -
220[ D AFILOFAHILANSVEED KA TSR - -
221|275 HhILTD 3,065 3,065 3,065 0 100
222|129 /FAHILT - -
223|N, N=DAFILETUILTIY — —
224|N, N=DAFILETUILTIV=N—FFFK 72 1,656 14,017 15,745 15,745 0 100
225(k)oBJLRY 13 13 13 0 100
226|1, 1—JAFILERS DY - —
227]/,85a—F 6,225 6,225 6,225 0 100
9og|3: 8 —UAFIETIZN—4, 4 =D)L= _ _

CAITH—bk
229|FAIT7R—RAFIL 5,131 5,131 0 5,131 0 100
930|N= (1. B=UAFILTFI) =N —Tx=)b— _ _

ING—DTIZLITFIY
231 (A ILE—=R)D Y - -
232N, N— O AF JLRILLTSE 13,752 13,752 11 13,763 0 100
233|2x kI —F 1,212 1,212 1,212 0 100
234|RF 0 0 0 0 100
235| RREB D KA - -
236|7AAXIZIL 60 60 60 0 100
237|KEBRVZDIEEY 0 0 1 2 75 25
238 KFIETILIZT=IL — —
239|HHRXILEY 0 0 0 0 100
240| R FL Y 2,671 1,879 19,011 23,561 1,100 24,661 4 96
9a1|[2 T ANRNFYTAVE—1—AFILTZTIL _ _

FhUD LG
22| LU BRUZEDIEEY 0 0 11 11 100 0
283[FAA X UFE 371 163 1 11 545 7,263 7,808 93 7




HRILEYE HEHE (kg/E; F A F U 8Emeg-TEQ/ ) AL
RN = (HEEHE)
e HREA | FARE ol I bt
o MEBE R X203 XTI — - HH=E &t |HHE [ HE=
BXE =S 3

244|153 Ayk 79,940 79,940 79,940 0 100
245|F A R % 0 0 0 0 100
246| FATT/—)L - -
247|EZ5H0OFRR — —
2485 AT/ 7,521 7,521 0 7,521 0 100
249/ 0OJ)LE)RR 4377 4377 0 4377 0 100
250[/YXHFA 261 261 261 0 100
251|2x=rOF A 11,425 1,059 12,484 0 12,484 0 100
252| 7 F AL 208 39 247 247 0 100
253|787 /KR — —
254|477~ KRR — —
255| 7 HTAESITIZIILI—TIL — —
256 T H B 12 12 12 0 100
257|7hH/—IL 9,942 0 9,942 9,942 0 100
258 NFHAFLUTRSIY 0 944 944 0 944 0 100
259 RILT45 L 1 1 1 0 100
260|/00420=)L 5,885 451 6,336 6,336 0 100
261|7H54F 3,110 3,110 3,110 0 100
262|700 FLY 2,065 2,065 458 2,522 18 82
263|CFC—112 - —
264|2, 3, 5, 6—ThrZ700—NF—ARY X/ - -
265|TRSEROAFILEKTZILER - -
2667 2JLRY> 592 592 592 0 100
267|FAHILT 504 504 0 504 0 100
268|F 5L 0 546 546 6 553 1 99
269[1YI7«4k—JL - —
270/ 7L %)L B - -




EILEYE HEHE (kg/E; FAAF U 8BEmeg-TEQ/ ) AL
RN = (HEEHE)

e HREA | FARE o L [E | EE
o ME R RIPEA IR — - HH=E &t |HHE |[HE=E
= =2 BEED RE BEA INET (E£5HE) %) (%)

BXE =S 3 ?
21 [TLIRIVEED AFIL — —
272| 8RB TS ($51EE X PR, ) 1 1,620 1,621 444 2,065 21 79
273|/ILRIL—FETIIILT7ILa—)L 15 15 15 0 100
214|3— % ) —RTHUFA—IL — —
215|F T IVERER TR L 4397 685 45634 50,716 50,716 0 100
276|TRSITFLIRUAEZIY - -
2717|RYITFILTZIY 439 439 439 0 100
278|FJTFL TRV 15 15 15 0 100
279|1, 1, 1—kK)HOO0IT4E> 795 795 100 0
280|1, 1, 2—kyyooxT2> 6 6 100 0
281[kJH/OOTFLY 1,492 1,492 11 1,503 1 99
282~ 4~ O OEEER 11 11 11 0 100
283[2, 4, 6—K)Hp0O0—1, 3, 5—K)T7DV — —
284|CFC—113 — -
285/ OOES) 377,263 377,263 377,263 0 100
286|~RJHOEJL 80 675 755 755 0 100
287|2, 4, 6—kUyop7Jz/—J)L - -
288]CFC—11 4,208 760 6,470 11,437 11,437 0 100
289(1, 2, 3—kyHOOJOs Y - -
290|kyoOoaR Y - -
1,3, 5—kJR(2, 3—ITFRFI7TOEIL) —1,
2913, 5—kYF7T>—2, 4, 6(1H, 3H, BH) —k - -
A2
202|RYTFILT Y - -
203|RJTILSY Y 980 980 980 0 100
294|2, 4, 6—+r)TJOEI/—IL — —
2953, 5, 5—KJAFIL—1—"FH/—)L — —
296|1, 2, 4—RUAFILARUEY 19,919 2,684 1,157 28,324 52,084 993 53,077 2 98
297[1, 3, 5—RJAFILRUEY 8,222 21,650 1,657 23,497 55,027 62 55,089 0 100




HEILEYE HEHE (kg/E; F A F U 8Emeg-TEQ/ ) AL
RN = (HEEHE)

e HREA | FARE o L [E | EE
o MEBE R RIPEA IR — - HH=E &it |HHE |[HE=E
= =2 BEED RE BEA INET (E£5HE) %) (%)

BXE =S 3 ?

208|RJL VDAY TR —b 20 20 20 0 100
299|kILADY - —
300|FJLTY 132,754; 118,394 14,600 398,921 664,669] 210,811 875,480 24 76
301|FLIoSTEY - -
302|F248L > 1,272 712 1,801 358 4144 0 4144 0 100
303[1, 5—F AL A=AV T FR—k - -
304/£A 0 0 7 7 99 1
305|8R1E &Y 13 764 777 19 796 2 98
306| ZFOYILEEANTHAFLY - -
3071 {EEIEDIILa=D L — —
308[=v4 L 1 1 20 21 97 3
309 =wH JLIE &Y 339 339 241 580 42 58
310[= RO = FEEE - -
|A)b—=rOF7=Y—)L - -
312|A ) b—=kET =Y - -
313|=kE5) — —
34| \5——koryoaR Y - -
315/A)Lk—=FORLIY — —
6[=rOR Y 0 0 0 0 100
37| =kAAR Z -
38| —mibir®E 0 0 0 0 100
319[/)L=IL—/=)LF7I)La—IL — —
320[/=)Lox/—)L 1 1 1 0 100
2 |NFIILIELED 24 24 0 24 0 100

5 —[N, N—ERQ2—=F7HEFILAFIIFI)
322|72/]—2"—(2—JBOE—4, 6—=hA7I - -

ZWTV) =4 —AF TN ZUR
323 AR Y 5 5 5 0 100
g04|1: BTERL(2, 3—TRFLTAEL) £ ] _ _

o€y

12



EILEYE HEHE (kg/E; FAAF U 8BEmeg-TEQ/ ) AL
RN = (HEEHE)

e HREA | FARE o I bt
o MEBE R RIPEA IR — - HH=E &it |HHE |[HE=E
= =2 BEED RE BEA INET (E£5HE) %) (%)

BXE =S 3 ?
325|A F 8 806 806 0 806 0 100
326|007 F T — —
327|1, 2—ER(2—490027x=)L)ERSDY - -
328[P 5L 450 450 450 0 100
329|R") h—s\ A—k 3,042 3,042 3,042 0 100
330 EX(1=AFIL—1—TzZI)LIFIL)=R)LAE _ _
FOKR
331 [HXHHRR 1,044 1,044 1,044 0 100
IN|MFERUVZDERILEY 0 0 1,507 1,507 100 0
333[ERSTY 149 149 1 150 1 99
334|4—EFOXF L REEFEBAFIL — —
335[N—(4—EFOXS T JL) 7HEEFPIR - -
336|EFOX /Y 3 3 3 0 100
337/4—E=Z)L—1—90~FHD - -
338[2—E=ZILEYDY - -
339|IN—E=)L—2—FOYKr> - -
340lETT=)L — —
MMNERSDY - -
2(E)DY 1 1 1 0 100
343|ATa—)L 0 0 — —
344| 7= LA XS - -
34571 )LERSDY - -
346[2—Dx=)LTJx/—)L 0 0 0 0 100
347IN—TJx=)L<TL /=K - -
348[7x=L P73 - -
349|7x/—)L 47 47 0 47 0 100
350|RJLARY Y 479 61 540 540 0 100
351(1, 3—TJ4E Ty 834 740 21,078 22,652 22652 0 100




EILEYE HEHE (kg/E; FAAF U 8BEmeg-TEQ/ ) AL
= E -ﬁ
- RN = (HEEHE) . _ Ei | Ema
- WEE HRRIE | SRR ., | BHE | AF  |HHE | HmE
BXE =S 3
352|7ZILEETT)IL - -
353|7AILEEIFIL — —
354|7BIEED —/ILIL—TFIL 2 699 701 320 1,021 31 69
355(T7RILEEE R (2—TFJLAEXI)L) 55 55 0 56 0 100
356[7HRILEE/ILRIL—TFIL=_T )L 2 2 2 0 100
357|700y 1,443 128 1,571 1,571 0 100
358|707/ K 544 544 0 544 0 100
359| /)< IIL—TF)IL—2, 3—TRFLTAEJLI—TIL - -
360X /3L 2,050 2,050 2,050 0 100
361[>/\ORyTITFIL 1,019 1,019 1,019 0 100
362|>F7 7 FHOY 1,700 1,700 1,700 0 100
B3|[AXFHITYY 248 248 248 0 100
3647 EQEXT A—h 94 27 121 121 0 100
365/|BHA — -
366|2— v —TFIL=FOX)LAF K - -
367|AI—tH F)—TFILI/—I)L - -
3684 —F2—Sx—TFIILIz/—)L — —
369|70/%LE vk 114 114 114 0 100
370[E)ERY 345 345 345 0 100
3N|FIT 2z ESK - -
379|N—= (B=Y XU =T FN) —2=_VIFT7J— _ _
LRI T TIR

373|2—A— %) —TFIL—5—AF)LITx/—)L - -
374| 52 L KRRV ZDIKBMHIE 222 222 18,639 18,862 99 1
375[2—JFF+—JL — —
376|749 0—)L 423 423 423 0 100
377|252 — —
378|7OERDT 350 350 350 0 100




HEILEYE HEHE (kg/E; FAAF U 8BEmeg-TEQ/ ) AL
= =g
) RN = (HEEHE) . B | Rt
A W 2 T HERIE | EHER e | A% |HmE|HHE
= =2 BEEQ REE BEA INET (E£5HE) : %) (%)
BXE =S 3 ?

3719[2—JnE —1—FA—)L — —
380[/\O0—1211 — —
381|TOEDH/OOASY 99 61 222 382 382 0 100
382[,\O0>—1301 — —
383[JawL 373 373 373 0 100
384[1—JOETO/ 2,142 2,142 2,142 0 100
385|2—2JJAETO/\ - -
386| RIEAFIL 21,937 21,937 8,900 30,837 29 71
387|E LTz TARX - -
388| TR RILTF7Y - -
3 ANFHTUILNAFILT U EZD L=H0OUR 84 304 430 818 818 0 100
30[NFHAFLUOTIV - -
AT HAFL=DAYS T HR—b 2 2 2 0 100
392| /LRI —~FHY 37,932 12,778 322 76,866: 127,898 58,820 186,718 32 68
393[RFFTh—JL - -
3U4INYH LEUVZDIEEY - -
395|RNILA XY ZIREE D KB IR 2 2 120 122 99 1
396|PFOS - -
97|y =kJHOYR - -
398|1EIER UL - -
399XV X7 ILTER 0 498 6,514 7,012 7,012 0 100
400[ R 2,392 20,740 605 116,064 139,801 5466 145267 4 96
401[1, 2, 4 — R EURJAILKRUEET, 2—EKY - —
402[| AT+t vk 6,283 6,283 6,283 0 100
403|R Y JT/Y 0 0 0 0 100
404[RAo007x/—)L - -
405|[F5FRILEY 30 124 21 175 99,862 100,037 100 0
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EILEYE HEHE (kg/E; F A F U 8BEmeg-TEQ/ ) AL
RN = (HEEHE)

e HREA | FARE o L [E | EEA
o MEBE R RIPEA IR — - HH=E &t |HHE |[HE=E
= =2 BEED RE BEA INET (E£5HE) %) (%)

BXE =S 3 ?

406|PCB 0 0 100 0

RY)(AFIFLY)=FILFIILI—FTIL(7I
07|FILEDORZHMN12MS15ETDLDRUF 9,663 71,680 409,006 490,349 0| 490,349 0 100

DEEMIRD,)
408[ R (XL IFLU) =AU FIIz=ILI—T 35 2,040 144 2219 0 2219 0 100

RYFFOIFLY)=FTYLI—TIVRET
409 P 5,965 5,956 57,732 69,652 69,652 0 100
40[RY (XL IFLU)=/ZJ)LTZIILI—TIL 639 12,721 436 13,796 0 13,796 0 100
411|/RILLTFILTER 1,325 2,377 912 93,827 98,442 510 98,952 1 99
N2|IRVAVRUVZDIEEY 1 1 1,979 1,980 100 0
413K T2 )LBE - -
A14|EKTLABR 0 0 - -
415| A3 9 )L 108 108 0 108 0 100
416[ X259 JLEE2 —TFILATIIL - -
417[A%41) )LEE2, 3—THR¥TAEIL — —
418[ A2V JLEE2 — (DAFILTE/)IFIL 0 0 0 0 100
N9 ARHYJLEE/ILIL—TFIL 0 0 - -
420| A3 1) JLEEAF )L 266 98 363 363 0 100
D4 AFToA T I —2—F> - -
422|121V L\ 2,956 2,956 2,956 0 100
423[AF LTI - -
A AFIL=AIF AT —b 4,840 4,840 4,840 0 100
425(4v70AhILD - -
426|HILRIS - -
427|HJLN)JL 4,475 215 4,690 0 4,690 0 100
428|2x/7HILT 2,448 177 2,625 0 2,625 0 100
429[/\OZ)LoaAF )L 72 72 72 0 100
430[1FXHHILD 10 10 10 0 100
431 |7V X AAEY 2,179 2,179 2,179 0 100
432735 X 160 160 160 0 100




ERILEYE HEHE (kg/E; F A F U 8BEme-TEQ/ ) AL
= E -ﬁ
) RN = (HEEHE) [, B | Rt
s W 2T HERIE | EHER e | A |HmE|HHE
= =2 BEEQ REE BEA INET (E£5HE) : %) (%)
BXE =S 3 ?

433[Ah—/\ L 1,950 1,950 1,950 0 100
434|A XYL 90 90 90 0 100
435|EUS /3w H AF )L 10 10 10 0 100
436 7L D7 —AFILAFLY 0 0 - -
437|3—AFILFATO/F—IL — —
438|AFILFDHL Y 7 302 2 311 3,107 3,418 91 9
439[3—AFILEYDY - -
440[1 —AF)L—1—TJIZ LI FIIL=EFORILAFIF 0 0 0 0 100
441]2— (1= AF)LTOE)L) —4, 6—=bOTT/—)L - -
4421 A70=)L 75 75 75 0 100
443|AY3)L 1,001 1,001 1,001 0 100
444(F) 70X ROEY 18 18 18 0 100
445|9L)X L LAFIL 677 677 677 0 100
446|4, 4’ — A FLIOTZ=L - -
47| AFLUVER (4, 1=29AaAF L) =DV T3 —b - -
A8[AFLUER (4, 1—Dx=L) =AY T R—b 18 18 0 18 0 100
449D AT 407 s — —
450([EYTFHILT 186 186 186 0 100
451[2 —ARFS —5—AF LT =) - -
452[2 —A)LATRRUFF7I—IL 1 1 1 0 100
453|[EYITTUORUVZEDIEEY 104 104 42 146 29 71
4542 — (BILKRYIOFAH)RVYFF7Y =)L - -
455|F LR 11 11 11 0 100
456[YAMETILS =D L 605 605 605 0 100
4571>40)LRR 1,780 163 1,944 1,944 0 100
458|JABRR) R (2—ITFJLATIIL) - -
459[VA BN R (2—490B0IFIL) - -
460[YAFERR L 16 16 16 0 100
461 [VABER) 2= )L — —
462[VAFER) —/ILRIL—TFIL - -
&t 517,000 2,813,809 937,979 1,122,167 5,390,954] 528,769] 5919,723 9 91
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